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2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 19,200
Al 38,400
T 38,400
qlles #XEsH N& 9,600 9,600 0
= 1,920
Al 3,840
- 3,840
307 gl2tol & 9,600 9,600 0
= 1,920
Al 3,840
- 3,840
05 RIZHRI & 3 9,600 9,600 0
ORJlese #2238 X& 120,000 =800t 2| 9,600
= 1,920
Al 3,840
- 3,840
Hegt dEXE XNAY 30,000 0 30,000
= 15,000
Al 7,500
T 7,500
307 21201 A 30,000 0 30,000
= 15,000
Al 7,500
T 7,500
02 QB AANHEX 30,000 0 30,000
OXg d&E3xte XA
25,000, 000 «60%*2CH 30,000
= 15,000
Al 7,500
- 7,500
A E oI} Bteds2 M=l KR 900 0 900
Al 450
T 450
307 glz2+ol & 900 0 900
Al 450
T 450
02 HAFHAANGEEE 900 0 900
OMII A 2A4Xt BtASES d=zH XA
150,000 =60t 2| 900
Al 450
- 450
=T EE (Z3) N 1,528 0 1,528
Al 764
T 764
307 glz2+ol & 1,528 0 1,528
Al 764
T 764
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2AM: LXield M ot
Hu: s 264 24 XY
©9: SNSY MY A (29 a8)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
06 283 1,528 0 1,528
OJN=EMHEE (ZS) XA 1,528
Al 764
= 764
S=2=0b A KR ALY 5,000 0 5,000
206 M= Hl 5,000 0 5,000
01 MHZ 4l 5,000 0 5,000
O2d=s=sJt M F bl 5,000
HE2AZH (LRl Z M) 121,844 134,710 A 12,866
FYZBLAHSY (Y 2YY|) 36,456 35,452 1,004
FUZBHH2E HAAFH 2| 36,456 35,452 1,004
101 124l 36,456 35,452 1,004
03 RIHAZ 22 36,456 35,452 1,004
OX A& A 36,456
-Jlas 2,237,850& x12& 26,855
-JE=d 60,000& 123 720
- Z U gAY 130,000& = 12& 1,560
- Z 50l 2,237,850& x80% 1,791
= PO = 2,992,460 *36% 1,078
-T2 11,535% 1. 5x5A| 2t % 12& 1,039
—HRsSsI=E 92,280& 10 923
— 2t o4 Yl 200,000& 12 2,400
-—xFENSsUHE XA 30,000& x13] 30
-HEiE K& 30,000& *23] 60
PIEET 85,388 99,258 A 13,870
JlE2&l 85,388 99,258 A 13,870
201 Yer2 2t 26,188 21,538 4,650
01 At 2t 2l 26,188 21,538 4,650
OSMEX 20,000& 1002 A 2,000
O&EuH 10,580
-HTEHEU 175,000 »3CH 83| 4,200
- ZdEgHEY 319,000& »4 24 x53 6,380
ORM2gII2+8H| 10,0003 x21H «12& 2,520
OAIZAZ 2 X sS4l
8,000& *5.541x21H x 123 11,088
202 o4dl 50,400 67,200 A 16,800
01 = LH o4 1l 50,400 67,200 216,800
O2L ol 200,000&*21H «12& 50,400
203 ¥ S =&l 4,200 4,200 0
04 FANSEHE=LH 4,200 4,200 0
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ORMSLYRFAHI(2521015t)
350,000& »12& 4,200
405 TtabH S| 4,600 6,320 21,720
01 AL ESFH S 4,600 6,320 A1,720
Osloa oXt RH 7Y 160,000% * 1074 1,600
OZ2f HOoIM Z2lf 2 (A3)
3,000,000% = 1CH 3,000
Nees (Ll Z ) 69 0 69
E8XE 69 0 69
grat s X & 69 0 69
802 BHEt= DI EF 69 0 69
02 Al - EHIEXZSEHEZ 69 0 69
Oxaze 2g UUXFS 0K 69
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